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Q-1 (A) Explain the concept of differentiation. Explain the rules of differentiation with appropriate
illustrations.

[Ascololl el Al [@Qsctatetl Bl 2o Gels0l wal AHeycl.

(B) The total cost function and demand function of a monopolistic firm are C =100+40Q and P=200-- 8Q
respectively. Then find out (1) equilibrium price and production for maximum profit, (2) if a motive
- of a firm is maximum revenue than level of Price and production,

As goRelr Udlotl st Wl wal Hiolell (A8 wegsA C = 100 + 40Q uad P = 200 - 8Q 8.
A (1) Herr olsl Hell dAHdetl FHd wal Galest, (2) %l Udloll Gaal HetiH lasall sl ol

(et val Gellesiof 2R 2llell

OR
(i) Using the differentiation explain the relationship between the average cost and marginai cost.

[Asciotoll Guallol s3al 2212 Wl wal HlHld wWal el deld Hendl.

(i) Discuss the usage of differentiation in economics. wefatatl [scsial Gualolell Al 521

(iii) With the help of partial differentiation find out the maximum and minimum values of a function-
7=8%X +2XY — 3K+ Y +1
uifls Raciotodl neesll @Azl 7= 8% +2XY ~ 3K+ Y2 + 1 ott HattH ual ool Hell el

Q-2 (A) Explain the concepts of coefficient of correlation and probable error. Discuss the use of probable error
in interpretation of coefiicient of correlation. '

Usdoluls wA AARd uoll vered umedl dsdoluisal witeal deldd St Guallotsll

Al 52,
(B) Explain the relationship between commodity — X and commodity — Y using Spearmen’s method.
Al Netoll UekfQetl Guallol 53lal cad — X ua did — Y clralell el Aol

Price of =X (X olt Bxcy (2511811510 1730161181421
Price of - Y (Y oll Bud) |22]24(27135:21 (20|27 25|27 |23
Demand for —X (X o0l wioy) | 30 | 38 | 40 | 50| 38 | 25| 38 1 36 1 41 | 32

OR
(D Discuss the usage of correlation in economic analysis. U Ltlll wl(es @Qectaom Guallol A2l

(i) Explain the meaning and types of correlation. ugroluall wel ual YsiA wmotell,

(iii) Find out Karl Pearson’s coefficient of correlation between the income and index number using below
given data. '

ol2 wllel B loll Guallol sEal was ual Yus uisell sicl Madosll Ysrioluls Ll
Income (LeLS) 1200{1220| 1260| 1270; 1270 1240/ 12801 1290|1320/ 1300
Index Number (s iis)| 115| 1181 119| 119| 120 120} 124 | 123 | 124 | 125

Q-3 (A) Explain the concept of regression. Narrate the significance of regression in economics. Which are the
reasons responsible for emerging error in regression?

(et doltloll verlet uHostdl, vglaumHl (el dolts] Hewl aldl Had deluni 2@ Gaalaal
ML FUAER sRell sl B? CPTo)

©

08

05

04
09

09




(B) There are 1500 students in a college. Out of them 20% students are staying in hostel. 8% of total

students have failed in examination. In failed students the number of hostellers is 20 more than non-
hosteller students. Using this information find out the associationship between staying in hoste! and
success in examination.

As sldyHl 1500 [Qanel 8, el 20% Qanelol Sedetl 23d1 B, st Qawelxoy gy Qauel
RS clU 22 B, dlu el [Qenelin] Sedetl 23t Qanefolloll 2van Sadedi o 234l
(QaelRR sl 20 atR sl 2 WA Gullol s9A A3l 2dslel A udlaudi usacll
el RS woitl .

(C) Briefly distinguish between correlation and regression.

)

(i)

HsHolt Wal [Rald el cRAA dstaid 51l 2 53,

OR
(ive the meaning of association of attributes. State the conditions for consistency of data. Narrate the

-methods to study the association of attributes.

apRueHsioltlall w12l vl Hldcllell Aotctatell ARl woudl, spau sttt vealell Al agldl,

Here the data regarding demand for television sets in various towns are given below. Using this data
cstimate the demand for television sets of a town with a population of 30 thousand.

wWE ARy 230 2A[RAR V2ol uioL delld B A wucwnd il B, wl B Guallal
531l 30 eRell axcllatal 2826 AR R Az HBll uiotell vigle sl

Population (C{%ru) 11000 | 14000 | 14000 ; 17000 | 17000 | 21000 | 25000
Nos. of Television Sets Demanded
(Hiat 520t 2A QAN Azell Huay)

1500 | 2700 | 2700 | 3000 ! 3400 | 3800 | 4600

Q-4 (A) Define the index number. Narrate the chief characteristics, uses and limitations of index numbers.

YAsUsA 2vllttg 53 Ysuisel Yual Ala@ s, Gualol ua HaleRdl asld,
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(B) Compute Fisher and Marshall-Edgeworth index numbers for the year 2016 based on year 2015 from 08

(i)

the following data. Test whether these indices satisfies time reversal and factor reversal tests:
Aol M3l uzell af 20150 R @ 2016 HE (ar A Hle-Bevasiol Yausuisld

ARl 530wt Y5 wH Aualy v ve Quala udla@l 6 B b o1 ddf udlea 53,

Commuaodity 2015 2016
clig Quantity (%22ll) | Price ((E4cl) | Quantity (%s22) | Price ((3xdl)
A 50 32 50 30
B 35 30 40 25
C 35 16 50 18
OR

Explain the concept of Cost of Living lndex. Describe its utilities, assumptions and limitations.
Discuss the problems in construction of Cost of Living Index.

Yool [Aele wlel wisell veuel dHmal dott GUAY, wREU wUR HaAlERAle adlet 531, Wdat
Rale walstt visell 2atalell Yohelallell 2 83,

Using the following data, calculate weighted index number taking 2012 as a base year.

ARl B loll Guallal 53R 20129 Btz @ A} @A alfld yasuisell ol st
Commodity (<) | Quantity (%22l) | Price per unit in Rupees (AsHES (SHA 3U0Hl)

2012 2013 2014 2015 | 2016
A 12 30 33 36 36 39
B 10 25 24 30 32 30
C 20 20 25 28 32 30
D 1 200 240 250 250 260
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